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int main(void)
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return @;
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int main(void)

{

int numl, num2; // ¥3= numl, num22] HH

int num3=38, numd=48; // W num3, numd?] Mo T 7|3}

printf("numl: %d, num2: %d \n", numl, num2);

num1=18; J/ ¥ numle) 27|%}

num2=28; // ¥ num29) 7|3} ALsHE gt

printf("numl: %d, num2: %d \n", numl, num2);

return @; numl: 18, num2: 28
I num3: 30, numd: 40

int numl, num2;

3
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201 0|85} § 0|40| HSE SA0] MAZ & YLk,
Moink sh3 Zto| CHUEIZ] R7FX] 27| Z(@I0| 8t )0l ML

int num3=30, num4=40;
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& (Data Type)
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int main(void)

{
int numl=3;
int num2=4;
int result=numl+num?2;
printf("sl4 ZAi}: %d \n", result);
printf("%d+%d=%d \n", numl, num2, result);
printf("%de}(3}) %d2 2 %dgluyci.\n", numl, num2, result); S A} 7

return 8; 3+4=7

} 30}(3}) 49 ge 79U}
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CH 2l (assignment)

CIAKLQF Al

(arithmetic) A
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_ QMX} LEZO| U= U TLIX RAZ0| U= M0l CHRISICEH -
- G} num = 20;

4 5 mAMRe| 2 o8It .
o) num=4+3

_ {Z0| WAL B0l M LEZ 2| I HLA} ZS MLt -
o) num=4-3

. £ mAMR e 22 St .
Gl num=4*3;
{ZO| mALMK GE REZ| mHLMA g2 LEEC),

/ Gl num=7/3; -
fEo| n|AMK g @ERS MHMUA} 22 LIRS I 27| == LA

% £ PHssict

o) num=7 % 3;

int main(void)

{

int numl=9,
printf("%d+%d=%d \n",
printf("%d—%d=%d \n",
printf("%dx%d=%d \n",
printf("%d+%d2] E=
printf("%d<%de| U2 =%d \n",

num2=2;

numl, num2, numl+num2);

numl, num2, numl-num2);

numl, num2, numl*num2);

#d \n", numl, num2, numl/num2);
numl¥num2)

numl, num2,

return @;

4SS SO AMAO| s FL
Ql4t0| O|RX| T 1 AIHE 7|We 2 F4o| 50|
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9—-2=7

;. 9%x2=18
920 B=14

9+29] Ymz=1
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(Compound Assignment) ¢ 4K}

int main(void)

{

int numl=2, num2=4, num3=6;

numl += 3;
num *= 4,

num3 %= 5;

printf({“Result: %d, %d, %d \n", numl, num2, num3);

return @;

Jf numl
J/ num2
S/ num3

numl + 3;
num2 * 4,

num3 % 5;

Aalég?alaf.

Result: 5, 16, 1
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int main(void)

{

[ int numl = +2; ] int num1 = 2; 2t St 2%
A

int num2 = -4; = QiAlRto| Mo EAIRY| H20| HIIYO| FHsBLLL,

-

numl = -numl;

printf("numl: %d \n", numl);

num2 = -num2; AL3HTH 2f

printf("num2: %d \n", num2); e 0=

return @; numl: -2
I num2: 4

______________________________________________________________

numl=-num2; J/ BT dARRle] AlL
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numl-=num2; /5% 9 ko] AHg E HMXIE SESIX| YT E FO|BHC}

______________________________________________________________

numl = -num2; f/ BE dAakale] Al
auml o= num2;  // B oY dAkre] ALg
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S 7Hincrement), &2~ (decrement) &
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cenum | W 1E7HE, A3 2WO LKIE TMA &7, £ S _
o)) val = ++num:
25 DX ] ZBiEt S 242 | SIHM = =7
o) val = num++:
U1 LA F | 45 SEO| LIHAIE ZIS(M Za | & AL
==num ' ! —
o)) val = ——num
451 DTS OX TEE S US 1 BAM AN, F LA
num-- - —
o) val = num-—-
int main(void)
{
int numl=12;
int num2=12;
printf(“numl: %d \n", numl);
printf("numl++: %d \n", numl++); [/ E8 Z7 numl: 12
printf("numl: %d \n\n", numl); numl++: 12
printf("num2: %d \n", num2); numl: 13
printf("++num2: %d \n", ++num2); [/ HY F7
printf(“num2: %d \n", num2); num2: 12
return 8; ++num2: 13
¥ num2: 13 Aalggngll"
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int main(void)

{
int numl=18;
int num2=(numl--)+2;
printf{“numl: %d \n",
printf({"num2: %d \n",
return @;

I

Ml . num2 of el

/1 39 Za
numl) ;
num2) ;
numl: 9
num2: 12

l I =M. B+ 28 oM Y2 g

int num2 = (numl--)+ 2;
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resultl = (numl==num2 );

Fuf, numlsl num2?t Z2H true(l)S BHEH

int main(void)

{
int numl=18;
int num2=12;
int resultl, result?, result3;

[resu1t1=(num1==num2}; ]

result2={numl<=num2);
result3=(numl>num2);
printf{“resultl: %d \n", resultl);
printf{“result2: %d ‘\n", result2);
printf("result3: %d “\n", resultl);
return 9;
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=2|(logical) & AKX}

i Atx} SAIRLS| 7l Zate
28 G) A && B .
ASHB BS E0I3 SINZNIR ' ¥iBHi=al AND)
| o) A ll B .
ASHB & & SiEiE ROl ST A'E YEl(=a| OR)
o) 1A .
AZHEHOIR A, A7HFHEIOIR E'E ¥iBH(=a] NOT)

int main(void)

{
int numl=18;
. _1q. Ak
int num2=12; &8 TAlo| Hal XE S - olplo] HiEt ZIS
int resultl, result2, result3; CAOE 8 MM EIH
[r‘esultl = (numl==1@ && num2==12); ] l | ]
result2 = (numl<12 || num2:12); resultl = ( numl==10 && num2==12 );
result3 = (!numl);
. 1 or adtst 1 or adis}
printf("resultl: %d ‘n", resultl);
printf("result2: ¥d \n", result2);
printf(“result3: %d \n", result3); 21Z 0| || A numi2 00| OfL|B 2 tu}l HXIo| A2
t a; -
} S =CHH AHZlof| sfEetet. waks] + A4ke| Autz FHE 9
O|5t= 10| HhetE|= Zo|Ct,
resultl: 1
result2: 1

result3: @ ﬂg3g7§2+



=
(=]

v =0k, )

Op= o 4FXtO|Ct,

=
=]

I#HLE = 0

o| H4E Ao MAS

|AP
(<]

0

=
)

int main(void)

=2;

1, num2

printf(“Hello

int numl

"), printf("world! \n");

2}

Hello world!

2 3

2

AI3HH 2
2 o

printf("%d ", numl), printf("%d ", num2), printf{"\n");

numl++, num2++;
return 8;
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int main(void)
{

int num;

scanf("%d", &num);

i —————————————— -

int main(void)

B4 num o MZEStaL,

scanf( "%d"“, &um );

I+ H+-HEl2 23 ZobM

- printf SF0|A 2| %d= 102+ H
- BFH scanf 0f|lAMQ] %d= 10T

. H=0| 0|8 num 0] & E Q2 0|RE

{ int result; #dE‘Fine _CRT_SECURE_NO_WARNINGS
int numl, num2;
printf("#<4= one: ");
scanf("%d", &numl); Jf A WA A= ey
printf("A4 two: 7);
scanf("%d", &num2); [/ 5 A A== 2l Aé%g‘l;_{,lf_
result=numl+num?2;
printf("%d + %d = %d \n", numl, num2, result); ;g‘r one-
return @; Z4 two: 4
} 3+4=17
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! int numl, num2, num3; o \

1 " " I

' scanf("%d %d %d", &numl, &num2, &num3); 1 ! . .

i I scanf(" %d %d %d", &numl, &num2, &num3 );

i ! N 4 A
1,

e 2

Bi== numl, num2, num3 0ff MZESCE

int main(void)
{
int result;
int numl, num2, num3;

printf("A 7j2) F+ HUH: ");

scanf("%d %d %d", &numl, &num2, &num3);
result=numl+num2+num3; Aé8g7ga+
printf("#%¥d + ¥d + ¥d = ¥d \n", numl, num2, num3, result);

return @; A 7He] He J=]: 456
} 4 +5+6 =15
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i auto _Bool break case

i char _Complex const continue
i default do double else

i enum extern float for

i goto if _Imaginary return

i restrict short signed sizeof

i static struct switch typedef
i union unsigned void volatile
| while
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